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> |@dt] 4t | ed | = | 1370 & | 3nT | +1 | 630 | 12
3 |mm| 4t | scx | = | ss0 | 46 | sc | = | 400 | 4
a4 |wal 4t | 4s | +2 | 680 | 4t | 4s | = | 620 | 2
5 |mdt| 4t | ec | -1 | -100{ & | 5D | = | 600 12
6 |zmml &= | aNT | +2 | 660 | 7 | 3nT | -1 | 100 13
7 PE=] [£3] 4H +1 650 1t 4H -2 -200 13
8 |wk| & | 3 | 2| w0l & | 3H | 2| 50 | 2
o |mm| & | sc | = | 110 & | 2¢c | = | 90 1
10 | \WHB [£3] 2C +1 110 [£3] 2NT +1 150 1
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7 |wal 4t | aH 100 | 4t | 4H | = | 620 12
8 |wx|l & | 4Hx | 4 | oo | &= | 4n | 3 | 150 | 12
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8 TS [ri] 3H = -140 [ri] 3H -1 50
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6 panyiic] x 3NT -1 100 [ri] 5D -1 100
7 PWE=] 1t 4H -1 -100 1t 4H -1 -100
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9 panyiic] [£3] 3C = 110 x 3D -3 300 5
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